
ANSWERS FAST FASHION:

1. The word detrimental in the paragraph is closest in meaning to

A: Harmful

2. The word sustainable in the paragraph is closest in meaning to

B: Maintain

3. The word accelerate in the paragraph is closest in meaning to

C: Quicken

4. The word imminently in the paragraph is closest in meaning to

D: Approaching

5. According to the paragraph, what did Greta Thunberg intend to do to fast fashion

companies?

B: Expose them for greenwashing

6. According to the paragraph, what did Greta Thunberg initially consider as an appropriate

platform to deliver her message?

C: Instagram

7. According to the paragraph, what did Greta Thunberg wish to discuss about mass

produced fashion and sustainability?

D: She wished to highlight the contradiction between the two

8. According to the paragraph, what change does Thunberg think we need to see?



D: A system change

9. Which of the following can be inferred from the passage about Greenwashing?

B: It is a way for advertisers to falsely represent products as eco-friendly

10. What does the paragraph suggest the fashion industry is guilty of falsely promoting

themselves as?

B: Eco-friendly

11. Which of the following is not true, according to the passage?

B: The fashion industry is a small contributor to the climate emergency

12. The paragraph supports which of the following statements about people who work in

the fashion industry

D: They are treated unfairly

13. Which of the following statements is not true according to the passage?

B: Greta Thunberg only borrows clothes from her friends and family

14. According to the paragraph, all of the following statements are true about the evolution

of the earth’s atmosphere, except:

B: People believe activists are optimistic about their cause

15. What does the passage suggest about the Climate Change report?

C: The earth will increase temperature sooner than previously thought

16. According to the passage, why is Greenwashing a problem?



D: It is an ongoing issue

ANSWERS Is Mars too small to have aliens?:

1 The word evolution in the paragraph is closest in meaning to?

B Development

2 The word estimate in the paragraph is closest in meaning to?

A Guess

3 The word significant in the paragraph is closest in meaning to?

C Important

4 The word candidate in the paragraph is closest in meaning to?

A Possibility

5 Why do researchers believe that Mars has never hosted alien life?

C It isn’t big enough.

6 What did the researchers use to determine whether water is present on Mars?

A Potassium

7 What does Professor Wang say about planet size and the existence of alien life?

B It is a more significant factor than the position of the sun.

8 What are exoplanets?



C Planets that exist outside the solar system

9 Which of the following best summarises the search for evidence of liquid on Mars?

B It has led to further research on alien life.

10 Which of the following is TRUE, according to the passage?

A Mars has more potassium than the Moon.

11 Which of the following is NOT TRUE, according to the passage?

D There is broad scientific agreement about the amount of water on Mars.

12 Which sentence best summarises Kun Wang’s views about the amount of water on Mars?

A There is not enough water on Mars to support alien life.

13 Why does Professor Wang believe better technology is needed?

C It will help scientists better understand Mars’ history.

14 How did Professor Wang measure the amount of water on Mars?

D By using data collected from meteorites

15 Why can be inferred from Kun Wang’s statement that “Mars’ future was decided from the

beginning.”

D Mars was never supposed to support human or alien life.

16 Which of the following sentences about the information in the final paragraph is true?

B Professor Wang’s theory can improve understanding of exoplanets.




